

ON PRIME RINGS WITH INVOLUTION AND GENERALIZED DERIVATIONS

RADWAN MOHAMMED AL-OMARY¹

Department of Mathematics and Computer Science
Ibb University, Ibb, Yemen

e-mail: raradwan959@gmail.com

AND

S. KHALID NAUMAN

Department of Mathematics
Jinnah University for Women Karachi, Pakistan

e-mail: synakhaled@hotmail.com

Abstract

In this note we investigate some commutativity conditions on prime rings with involutions by using some generalized derivations. We have provided a counter example as well.

Keywords: *-ideals, involution, *-prime rings, derivations and generalized derivations.

2020 Mathematics Subject Classification: 16D90, 16W25, 16N60, 16U80.

1. INTRODUCTION

Throughout we assume that R is an associative ring with the center $Z(R)$. A ring R is said to be 2-torsion free, if for $x \in R$, $2x = 0$ then $x = 0$.

For each $x, y \in R$, the symbol $[x, y]$ will represent the commutator $xy - yx$ and the symbol $x \circ y$ stands for the skew-commutator $xy + yx$.

A ring R is prime if $aRb = \{0\}$ implies that $a = 0$ or $b = 0$ for any $a, b \in R$, it is called semiprime if $aRa = \{0\}$ implies that $a = 0$ for any $a \in R$. An ideal P of R is called a prime ideal if $P(\neq R)$ and if for any ideals I, J of R , $IJ \subseteq P$ implies that $I \subseteq P$ or $J \subseteq P$.

¹Corresponding author.

By involution $*$ we mean an additive mapping $*$: $R \rightarrow R$ defined by $*$: $x \mapsto *(x) = x^*$ such that $(xy)^* = y^*x^*$ and $(x^*)^* = x$ hold for all $x, y \in R$. If R adheres to an involution $*$, then we briefly say that R is a $*$ -ring. It is known that a $*$ -prime ring is semiprime (for proof see [11] Fact E). Also, it can be easily seen that if R is a $*$ -prime ring of characteristic not 2, then R is 2-torsion free (for proof see [2] Lemma7). Let R be a $*$ -ring. A left (resp. right, two sided) ideal I of R is called a left (resp. right, two sided) $*$ -ideal if $I^* = I$. An ideal P of R is called a $*$ -prime ideal if $P(\neq R)$ is a $*$ -ideal and for $*$ -ideals I, J of R , $IJ \subseteq P$ implies that $I \subseteq P$ or $J \subseteq P$.

Now we will explore some examples.

Example 1.1. Let \mathbb{Z} be the ring of integers. Let $R = \left\{ \begin{pmatrix} a & b \\ 0 & c \end{pmatrix} \mid a, b \in \mathbb{Z} \right\}$. We define a map $*$: $R \rightarrow R$ as follows: $\begin{pmatrix} a & b \\ 0 & c \end{pmatrix}^* = \begin{pmatrix} c & -b \\ 0 & a \end{pmatrix}$. It is easy to check that R is a $*$ -ring and that $I = \left\{ \begin{pmatrix} 0 & b \\ 0 & 0 \end{pmatrix} \mid b \in \mathbb{Z} \right\}$ is a $*$ -ideal of R .

Example 1.2. Let F be any field and $R = F[x]$ be the polynomial ring over F . Define $*$: $R \rightarrow R$ by $(f(x))^* = f(-x)$ for all $f(x) \in R$. Then one can easily check that R is a $*$ -ring and that xR is a $*$ -prime ideal of R .

Note that an ideal I of R may not be a $*$ -ideal. For instance,

Example 1.3. Let \mathbb{Z} be the ring of integers and $R = \mathbb{Z} \times \mathbb{Z}$. Consider a map $*$: $R \rightarrow R$ defined by $(a, b)^* = (b, a)$ for all $a, b \in R$. For an ideal $I = \mathbb{Z} \times \{0\}$ of R , I is not a $*$ -ideal of R since $I^* = \{0\} \times \mathbb{Z} \neq I$.

A $*$ -ring R is said to be a $*$ -prime ring if for any $a, b \in R$, $aRb = aRb^* = \{0\}$ implies $a = 0$ or $b = 0$. Obviously, every prime ring equipped with involution $*$ is $*$ -prime. Following example show that the converse need not be true in general.

Example 1.4. Let \mathbb{Z} be the ring of integers and let $R = \left\{ \begin{pmatrix} a & 0 \\ b & 0 \end{pmatrix} \mid a, b \in \mathbb{Z} \right\}$. Define involution $*$: $R \rightarrow R$ by $*(A) = A^*$, where A^* is the transpose of $A \in R$. Let $A = \begin{pmatrix} a & 0 \\ 0 & 0 \end{pmatrix}$ and $B = \begin{pmatrix} 0 & 0 \\ b & 0 \end{pmatrix}$. It is clear that $ARB = 0$, but neither $A = 0$ nor $B = 0$, where $A, B \in R$, it is follows that R is not prime. Further it is easily seen that $\begin{pmatrix} a & 0 \\ 0 & 0 \end{pmatrix} R \begin{pmatrix} 0 & 0 \\ b & 0 \end{pmatrix} = \begin{pmatrix} a & 0 \\ 0 & 0 \end{pmatrix} R \begin{pmatrix} 0 & 0 \\ 0 & 0 \end{pmatrix}^* = \begin{pmatrix} a & 0 \\ 0 & 0 \end{pmatrix} R \begin{pmatrix} 0 & b \\ 0 & 0 \end{pmatrix} = \begin{pmatrix} 0 & 0 \\ 0 & 0 \end{pmatrix}$, implies that either $\begin{pmatrix} a & 0 \\ 0 & 0 \end{pmatrix} = 0$ or $\begin{pmatrix} 0 & b \\ 0 & 0 \end{pmatrix} = 0$. Hence R is a $*$ -prime but not prime.

This example shows that $*$ -prime rings constitute a more general class than that of prime rings.

On the other hand, some classes of rings do not adhere to any involution, for example,

Example 1.5. The ring

$$K_{2^n} := \langle x_1, \dots, x_n \mid x_i x_j = x_i, 2x_i = 0, \forall i = 1, 2, \dots, n \rangle$$

cannot adhere to any involution (see Example 2.5 [13]), though it has derivations and generalized derivations (see [1]). In particular, for $n = 2$, we can rewrite $K_{2^2} = \langle a, b \rangle = \{0, a, b, c\}$ with the relations as defined above (see Example 2.1 [1]). Then $R = K_{2^2} \times K_{2^2}$ is a ring under the above operations. It is easy to check that R equipped with the exchange involution $*_{ex}$, defined by $*_{ex}(a, b) = (b, a)$, is $*_{ex}$ -prime but not prime. Define I as $I = \{(0, 0), (a, 0), (b, 0), (c, 0)\}$, it is clear that I is an ideal of R but not $*_{ex}$ -ideal of R . Moreover, the ideal $J = \{(0, 0), (c, 0), (0, c), (c, c)\}$, is a $*_{ex}$ -ideal of R with the exchange involution $*_{ex}$. Also, note that $(c, c), (0, 0)$ are the symmetric and skew-symmetric elements of R .

We need the symmetric ($x^* = x$) and skew-symmetric ($x^* = -x$) elements in our work. Let us denote by $S(R) := \{x \in R \mid x^* = \pm x\}$.

Recall that an additive mapping $d : R \rightarrow R$ is a derivation if $d(xy) = d(x)y + xd(y)$ for all $x, y \in R$. An additive mapping $F : R \rightarrow R$ is a generalized derivation associated with a derivation d if $F(xy) = F(x)y + xd(y)$ holds $\forall x, y \in R$. Over the last four decades, several authors have proved commutativity theorems for prime and semiprime rings that admitting some special mappings, particularly in the form of automorphisms, derivations and generalized derivations on an appropriate subset of R . Recently, some well-known results concerning prime rings have been extended for prime rings with involution (see [3, 4, 5, 8, ?] and [14], for partial bibliography).

In this paper, we continue to investigate the commutativity of the $*$ -prime ring R admitting generalized derivations (F, d) and (G, g) satisfying any one of the following properties: $\forall x, y \in I$, (i) $F(x)G(y) = 0$, (ii) $F(x)[x, y] = G[x, y]$, and (iii) $F(x)[x, y] = G(x \circ y)$.

2. PRELIMINARY RESULTS

We shall use without explicit mention the following basic identities, that hold for any $x, y, z \in R$.

- $[xy, z] = x[y, z] + [x, z]y$

- $[x, yz] = y[x, z] + [x, y]z$
- $x \circ (yz) = (x \circ y)z - y[x, z] = y(x \circ z) + [x, y]z$
- $(xy) \circ z = x(y \circ z) - [x, z]y = (x \circ z)y + x[y, z]$.

We begin our discussion with the following lemmas which are essential for developing the proof of our main results.

Lemma 2.1 ([7], Lemma 3.1). Let R be a 2-torsion free $*$ -prime ring and I a nonzero $*$ -ideal of R . If $a, b \in R$ such that $aIb = aIb^* = 0$, then $a = 0$ or $b = 0$.

Lemma 2.2 ([12], Theorem 3.1). Let R be a 2-torsion free $*$ -prime ring with involution $*$, I a nonzero $*$ -ideal of R . If R admits a generalized derivation F associated with a nonzero derivation d commuting with $*$ such that $F(x) = 0$ for all $x \in I$, then R is commutative.

Lemma 2.3 ([12], Lemma 2.4). Let R be a 2-torsion free $*$ -prime ring and I a nonzero $*$ -ideal of R . If R admits a nonzero derivation d commuting with $*$ such that $[x, y]Id(x) = 0$ for all $x, y \in I$, then R is commutative.

3. MAIN RESULTS

In [2] in Theorem 1 the authors obtained that a $*$ -prime ring R admitting a nonzero derivation d which commutes with $*$, such that $d(xoy) = d(x)oy$ or $d(x)oy = xoy$ for all x, y in a nonzero $*$ -ideal of R is commutative. Also in Theorem 2 they proved that $d = 0$ when R is a $*$ -prime ring admitting a derivation d commutes with $*$ such that $d(xoy) = xoy$ or $d(xoy) = d(x)oy$ for all x, y in a nonzero $*$ -ideal of R . In Theorem 1 in the following we have restated Theorems 1 and 2 of [2] and provided a short and direct proof of Theorem 2 of [2].

Theorem 3.1 (Theorems 1 and 2 in [2]). *Let R be a $*$ -prime ring of characteristic different than 2, I a nonzero $*$ -ideal of R and d a derivation on R such that d commutes with $*$. If $d(xoy) = d(x)oy$ or $d(xoy) = xoy$ for all $x, y \in I$, then R is commutative and $d = 0$.*

Proof. Note that, if once it is established that under the situations mentioned in the theorem that R is commutative, then together with the Identity (3.1) in [2] it can directly be proved that the derivation involved is *zero*. Let us prove it here.

Identity (3.1) in [2] states that

$$d(x)yx = -xd(y)y; \text{ for all } x, y \in I.$$

Because R is commutative and $\text{char}(R) \neq 2$, so

$$d(x)yx = 0; \text{ for all } x, y \in I.$$

Then $\forall r \in R, rx \in I$ and so

$$d(rx)yrx = 0 \text{ for all } x, y \in I,$$

which implies that

$$d(r)xyrx + rd(x)yrx = d(r)rxyx = 0; \text{ for all } x, y \in I.$$

If $d \neq 0$, then $xyx = 0$ which eventually implies that $I = 0$. Hence we conclude that $d = 0$. \blacksquare

Theorem 3.2. *Let R be a 2-torsion free $*$ -prime ring and I be a nonzero $*$ -ideal of R . If R admits generalized derivations (F, d) and (G, g) in which g commutes with $*$ such that $F(x)G(y) = 0$ for all $x, y \in I$, then either $d = 0$ or $g = 0$.*

Proof. By hypothesis, we have

$$(3.1) \quad F(x)G(y) = 0 \text{ for all } x, y \in I.$$

Replacing y by yx in (3.1) and using (3.1), we get

$$(3.2) \quad F(x)Ig(x) = 0 \text{ for all } x \in I.$$

Since I is a nonzero $*$ -ideal of R and $*g = g*$, then equation (3.2), yields that $F(x)I(g(x))^* = 0$ for all $x \in I \cap S(R)$. So, in view of Lemma 2.1, we have either $F(x) = 0$ or $g(x) = 0$. Using the fact that $x \pm x^* \in I \cap S(R)$ for all $x \in I$, we get $F(x \pm x^*) = 0$ or $g(x \pm x^*) = 0$. Hence, in view of the Equation (3.2) and Lemma (2.1), we get either $F(x) = 0$ or $g(x) = 0$, for all $x \in I$. We obtain that I is the set theoretic union of two proper subgroups, namely,

$$A := \{x \in I \mid F(x) = 0\}$$

and

$$B := \{x \in I \mid g(x) = 0\}.$$

But $(I, +)$ cannot be the set theoretic union of two proper subgroups, hence either $A = I$ or $B = I$. If $A = I$, then $F(I) = \{0\}$, so $F = 0$ and thus $d = 0$. On the other hand, if $B = I$, then $g(I) = 0$ which yields that $g = 0$. \blacksquare

Theorem 3.3. *Let R be a 2-torsion free $*$ -prime ring and I be a nonzero $*$ -ideal of R . If R admits generalized derivations F and G associated with nonzero derivations d and g , respectively, with $*g = g*$, such that $F(x)[x, y] = G[x, y]$ for all $x, y \in I$, then R is commutative.*

Proof. It is given that F and G are generalized derivations such that $F(x)[x, y] = G[x, y]$ for all $x, y \in I$. If $F = 0$, then for any $x, y \in I$, $G[x, y] = 0$. Replacing y by yx in the last relation and using it, we get $[x, y]g(x) = 0$. Now, replacing y by zy in the last relation and using this, we have

$$[x, z]Ig(x) = 0 \text{ for all } x, z \in I.$$

Thus, by Lemma (2.3), we get the required result. On the other hand, if $G = 0$, then for any $x, y \in I$ we have $F(x)[x, y] = 0$. Replacing y by yz in the last expression and using this, we get

$$(3.3) \quad F(x)I[x, z] = 0 \text{ for all } x, z \in I.$$

Since I is a nonzero $*$ -ideal of R , then (3.3) yields that

$$F(x)I[x, z]^* = 0 \text{ for all } z \in I, x \in I \cap S(R).$$

So, in view of Lemma (2.1), we have $F(x) = 0$ or $[x, z] = 0$ for all $x, z \in I$. Using the fact that $x \pm x^* \in I \cap S(R)$ for all $x \in I$, then $F(x \pm x^*) = 0$ or $[x \pm x^*, z] = 0$ for all $z \in I$. Hence, we have either $F(x) = 0$ or $[x, z] = 0$ for all $x, z \in I$. This means that I is the union of two of its additive subgroups, defined by $A := \{x \in I \mid F(x) = 0\}$ and $B := \{x, z \in I \mid [x, z] = 0\}$. But a group cannot be the union of its two proper subgroups and hence either $I = A$ or $I = B$. If $I = A$, then $F(x) = 0$ for all $x \in I$ and hence by Lemma (2.2), we get the required result. On the other hand if $I = B$, then $[x, z] = 0$ for all $x, z \in I$ and hence by [[6], proof of Theorem (1.1)], R is commutative.

Henceforth, we shall assume that $F \neq 0$ and $G \neq 0$. We have

$$(3.4) \quad F(x)[x, y] = G[x, y] \text{ for all } x, y \in I.$$

Replacing y by yx in (3.4) and using (3.4), we get

$$(3.5) \quad [x, y]g(x) = 0 \text{ for all } x, y \in I.$$

Again, replacing y by zy in (3.5) and using (3.5), we get $[x, z]Ig(x) = 0$ for all $x, z \in I$. Hence Lemma (2.3), we get the require result. ■

Theorem 3.4. *Let R be a 2-torsion free $*$ -prime ring and I be a nonzero $*$ -ideal of R . If R admits a generalized derivation F associated with a nonzero derivation d and a generalized derivation G associated with a derivation g commuting with $*$, such that $F(x)[x, y] = G(x \circ y)$ for all $x, y \in I$, then R is commutative and $G = g = 0$.*

Proof. It is given that $F(x)[x, y] = G(x \circ y)$ for all $x, y \in I$. If $F = 0$, then we have

$$(3.6) \quad G(x \circ y) = 0$$

Replacing y by yx in the last equation and using this, we get $(x \circ y)g(x) = 0$ for all $x, y \in I$. Again, replacing y by zy in the last equation and using this, we have

$$(3.7) \quad [x, z]Ig(x) = 0$$

for all $x, z \in I$. Since I is a nonzero $*$ -ideal of R and $*g = g*$, then (3.7) yields that

$$[x, z]I(g(x))^* = 0 \text{ for all } z \in I, x \in I \cap S(R).$$

So, in view of Lemma (2.1), we have $[x, z] = 0$ or $g(x) = 0$ for all $x, z \in I$. Using the fact that $x \pm x^* \in I \cap S(R)$ for all $x \in I$, then $[x \pm x^*, z] = 0$ or $g(x \pm x^*) = 0$ for all $z \in I$. Hence, we have either $[x, z] = 0$ or $g(x) = 0$ for all $x, z \in I$. Consider $[x, z] = 0$ for all $x, z \in I$. Using the same arguments as used in [[6], proof of Theorem (1.1)], we get that R is commutative. If R is commutative, then the equation (3.6) becomes $G(2xy) = 0$ for all $x, y \in I$, using the fact that R is 2-torsion free, we get $G(xy) = 0$. Now replacing y by yz in the last equation and using it, we get $xyg(z) = 0$ for all $x, y, z \in I$. Since g commutes with $*$, then the last equation leads to $xIg(z) = xI(g(z))^* = \{0\}$, since $I \neq \{0\}$ then we have $g(I) = 0$, thus $g = 0$. As $0 = G(xy) = G(x)y + xg(y)$ it follows that $G(I) = 0$. Accordingly, $G = 0 = g$. Now, if $G = 0$, then we have $F(x)[x, y] = 0$ for all $x, y \in I$. Using the similar arguments as used in the proof of the last theorem, we get the required result.

Hence onward, we assume that $F \neq 0$, we have

$$(3.8) \quad F(x)[x, y] = G(x \circ y) \text{ for all } x, y \in I.$$

Replacing y by yx in (3.8) and using (3.8), we get $(x \circ y)g(x) = 0$ for all $x, y \in I$. For any $z \in I$, replacing y by zy in the last expression and using this, we get $[x, z]Ig(x) = 0$ for all $x, z \in I$. Notice that the arguments given after equation (3.7) are still valid in the present situation and hence repeating the same process, we get the required result. \blacksquare

Example 3.1. Let \mathbb{Z} be the ring of integers and let $R = \left\{ \begin{pmatrix} a & 0 \\ b & 0 \end{pmatrix} \mid a, b \in \mathbb{Z} \right\}$ and $I = \left\{ \begin{pmatrix} 0 & 0 \\ b & 0 \end{pmatrix} \mid b \in \mathbb{Z} \right\}$. Define $*$: $R \rightarrow R$ by $* \begin{pmatrix} a & 0 \\ b & 0 \end{pmatrix} = \begin{pmatrix} 0 & 0 \\ -b & a \end{pmatrix}$ for all $\begin{pmatrix} a & 0 \\ b & 0 \end{pmatrix} \in R$. and $F : R \rightarrow R$ by $F \begin{pmatrix} a & 0 \\ b & 0 \end{pmatrix} = \begin{pmatrix} b & 0 \\ 0 & 0 \end{pmatrix}$, $d : R \rightarrow R$

by $d \begin{pmatrix} a & 0 \\ b & 0 \end{pmatrix} = \begin{pmatrix} 0 & 0 \\ b & 0 \end{pmatrix}$, and $G : R \rightarrow R$ by $G \begin{pmatrix} a & 0 \\ b & 0 \end{pmatrix} = \begin{pmatrix} a & 0 \\ 0 & 0 \end{pmatrix}$,
 $g : R \rightarrow R$ by $g \begin{pmatrix} a & 0 \\ b & 0 \end{pmatrix} = \begin{pmatrix} 0 & 0 \\ -b & 0 \end{pmatrix}$. Then R is a ring under usual operations, I is a $*$ -ideal, and it is easy to see that F and G are generalized derivations of R associated with the derivations d and g , respectively, and g commutes with $*$ such that either (i) $F(x)G(y) = 0$, for all $x, y \in I$, but $d \neq 0$ and $g \neq 0$ or (ii) $F(x)[x, y] = G[x, y]$, for all $x, y \in I$, but R is not commutative or (iii) $F(x)[x, y] = G(x \circ y)$ for all $x, y \in I$, but R is not commutative and $G \neq g \neq 0$. Hence, in Theorems 3.2, 3.3 and 3.4, the hypothesis of $*$ -primeness cannot be omitted.

REFERENCES

- [1] R.M. Al-omary and S.K. Nauman, *Generalized derivations on prime rings satisfying certain identities*, Commun. Korean Math. Soc. **36** (2) (2021) 229–238.
<https://doi.org/10.4134/CKMS.c200227>
- [2] M. Ashraf and M.A Siddeeqe, *Certain differential identities in prime rings with involution*, Miskolc Math. Notes **16** (1) (2015) 33–44.
<https://doi.org/10.18514/MMN.2015.1089>
- [3] M. Ashraf and M.R. Jamal, *Generalized derivations on $*$ -prime rings*, Kyungpook Math. J. **58** (2018) 484–488.
<https://doi.org/10.5666/KMJ.2018.58.3.481>
- [4] K. Emine and N. Rehman, *Notes on generalized derivations of $*$ -prime rings*, Miskolc Math. Notes **1** (1) (2014) 117–123.
<https://doi.org/10.18514/MMN.2014.779>
- [5] S.K. Nauman, N. Rehman and R.M. Al-Omary, *Lie ideals, Morita context and generalized (α, β) -derivations*, Acta Math. Sci. **33** (4) (2011) 1059–1070.
[https://doi.org/10.1016/S0252-9602\(13\)60063-6](https://doi.org/10.1016/S0252-9602(13)60063-6)
- [6] L. Oukhtite and S. Salhi, *Commutativity of σ -prime rings*, Glasnik Mathematicki **41** (2006) 57–64.
<https://doi.org/10.3336/gm.41.1.05>
- [7] L. Oukhtite and S. Salhi, *Derivations and commutativity of σ -prime rings*, Int. J. Contept. Math. Sci. **1** (2006) 439–448.
- [8] L. Oukhtite, S. Salhi and L. Taoufiq, *Commutativity conditions on derivations and Lie ideals in σ -prime rings*, Beitrage. Algebra. Geom. **51** (1) (2010) 275–282.
- [9] M.R. Khan, D. Arora and M.A. Khan, *σ -ideals and generalized derivation in σ -prime rings*, Bol. Soc. Paran. Mat. **31** (2) (2012) 113–119.
<https://doi.org/10.5269/bspm.v31i2.12119>
- [10] N. Rehman and O. Golbasi, *Notes on (α, β) -generalized derivations of $*$ -prime rings*, Palestine J. Math. **5** (2) (2016) 258–269.

- [11] N. Rehman, R.M. Al-Omary and A.Z. Ansari, *On Lie ideals of prime rings with generalized derivations*, Bol. Soc. Mat. Mex. **21** (1) (2015) 19–26.
<https://doi.org/10.1007/s40590-014-0029-3>
- [12] N. Rehman and R.M. Al-Omary, *On Commutativity of 2-torsion free *-prime rings with Generalized Derivations*, Mathematica **53** (2) (2011) 177–180.
- [13] B.H. Shafee and S.K. Nauman, *On extensions of right symmetric rings without identity*, APM **4** (2014) 665–673.
<https://doi.org/10.4236/apm.2014.412075>
- [14] H. Shuliang, *Generalized derivations of σ -prime rings*, Int. J. Algebra **18** (2) (2008) 867–873.

Received 30 October 2020

Revised 10 June 2021

Accepted 10 June 2021